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Unconsecrated animals that — XN9IRT 18D 7913 wrwaw 19997
were slaughtered in the courtyard are not prohibited 791057 3%.

Overview

The X713 states that °"'7 derives X177 70X by all 2°M0°X (according to 172X ")
from the extra word "nIX'; that only a 779> is X172 Mn, however all other
720K "0°K are 1X172 MR as well. The word "mIX' is not necessary to teach
us that 79TY2 MWW P27 are X172 MOK (as »'"1 maintains), for according to
"3 the MO°X of ¥"21wn is not XN7X7A. There is a dispute between "1 and
mooIn as to the meaning of XN™RT XY ¥"2wn; whether it is referring to the
X177 70X only (as is *"w7 NV W) or (as MOHOIN maintains) it is a general N1.

— ANIN NOOIN DIVNDN YIS

>"w1 explained that Xn>R7 R 7912 WMWY PN is referring to FARIT MOON
but not to 72°5% M0°X. Even 77 " agrees that ¥"awn is XN™IRTA MOX as far as 779K is
concerned; however there is no XN™RTA AT NOK by 7v2 wnwaw 170, Therefore the
word "mx' cannot come to forbid 7x371 by ¥"awn, since there is no 7X37 MO°K by 'v"awn. It
is used to teach us 7X37 M0°X by all (other) 770 *MOX [except ¥"awn].

mooIn disagrees with >"wA:
— NEPIMINT NG *9NP 29139 XX P19 195NN DY ¥HIWUI KDY

The simple understanding of this ruling does not indicate this; but rather

that the entire prohibition of ¥"2wn is not a 71910 prohibition (including eating
y"awn).

Mmoo seeks to support his contention:
— TP NIV PIN 17199353 KON INBNT NN 32 *NNynY 9103 19

And similarly at the conclusion of this discussion concerning that which
the X states; ‘there is a difference between 72X ' 7PN concerning

v''awn, there -
— 9NN 1PIy¥a W9Y YWON N

' See ‘Appendix’ why there is no 37 MO°X by ¥"23wn according to *"w1 nww *9H ",

% See [X"2w177 nvon and] w"RIT Moo who explain that if ¥"2wn is 792982 XN>78T2 MOX then it would be
more appropriate to use the "mx' for X137 MOX by ¥"2wn (which is similar to the 1N¥ m7 XY MO that is
derived from the same 105 of 1MIX 112°2wWn 2957 "3 77w2 TWw2Y) than for AT MO°X by other D MOX.

? It seems (from nvoIN later) that there is not even an X171 70X for the 771va nvnw. See footnote # 12.
49,

> The [only] difference the X3 was able to find between 1728 ' 7P was concerning v"2wn. According to
PPN it is RN™TIRTA MMOX and 772X "M maintains that ¥"2awn is XNMIIRT WY,
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It is impossible to explain it in any other manner®, except (how msoin
explains it) that they disagree whether the entire prohibition of ¥"2wn (including DX
72°9R) is 77N .

— (oW *2,09 9>1) 2RI 9NIN) 193N YNRYI 991) 23991 MIRY M 7‘;7‘1QM

And in the SIN TR 195377 DAY 917 919957 MKW 51 PIB, where the X3 -
— 19195 P9IN SNMNP XN MM 193NY 215 T9NT INNPY 7299

Asks, according to the one who maintains that the m7°11 is effective only
in order to educate the son in the observance of nxn; ‘but he is bringing

121 into the a»?!
— NDNINT ING N9T¥2 ONYIY PN 920D YUm

And the X7 answers; this 7"7 maintains that »'"2wn is not prohibited

NNMIRTRA. Therefore there is no concern. This concludes the citation from 9°73 noo~.

mMooIn continues with his proof:
— DONI 12PN ININ NPY SWPIN NN RNMIINT 1 NDIIN 9DIN 123¥D IN)

And if we maintains (as *"w1 does) that concerning the prohibition of
eating Y"2wn everyone agrees that it is 8n»"KR7, then the question still
remains how can we permit this 3292 to be eaten; it is v"awn!

— M99y DN yHUnT
For it is evident in that X7 ») that this j29p of the jup is eaten. We must
therefore conclude that when the X723 states that ¥"awn is RN*7IR7 W7 it means that there
is no MOX at all, not even an 779X nox. 12

nooIN asks:
— 91 ") 1318 Y91 02N HYINIT 0NN A PYNY 19%24Y )

And the R''3w9 has a difficulty for in 2'"''n in 1% nw9B, concerning 201 -
— BNy WP 99 YN KY NN 39 WA

% The X"w1m maintains that this 'X"y2 w197 X"X' is referring to the following proof from "21 TR "1 p192(Y)
(and not to the previous proof of ¥"2wn 2"k (and others have the text read wsX °X1, and also read 7197). See
however X"2w1;7 MooIn who clearly states ¥"awn 2"K 131 223 X"y w157 190° R? PRy 70 19p2. The "wann
in the X3 later on 1711 2"R 3 1"72 2,30 indeed explains it as the w"&7m X"2wa7 oo, See ‘Appendix’.

7 The X"w i is 07 here p792. See previous footnote # 6.

8 This should read R,00.

? The mawn there 2,n> states that a father may offer a vow to make his (minor) son a 7°11. 5" maintains there
that this N17°11 is not effective Xn>7IR7M, only 712777 in order to train the son in the ways of nxn.

% A =11 is required to bring certain n1327p at the conclusion of his M1 (and also if he became ¥nv during
his n7°1). These N3P are not valid according to 7" (who maintains that there is no mn for a jop
XN»RTA); they are 1711, These 'N11277" will be mrva P!

"' The xm3 there asks a similar question on 7" (concerning the 78mW 1277 of this Jup 713, which is a nxvn
71 that receives 17p°9n) that the 372 will eat 77°23; indicating that this 1279 is eaten.

"2 It seems from here that there is not even an 7v°nw MoX. See previous footnote # 3.

B g v (referring to v* ;7 P09 which reads A7wn wX2 98> X2 "1 wam).

14 79,03 (Mx¥N) Mw. The P10 reads: K177 WIP °2 29K R? WRI NI IR NI 1A QORDAT W2 NV OR).
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7797 "1 interprets the P100 which states X7 @7 9 928 X (it should not
be eaten for it is holy), to teach us, for —

—199Y5 N9TYA YONYIY PN *n5n oun) Poaon Yy xan 9Ivn RO 9190
I would have thought that a bird nXun offering, or an »»n awWR or >
7ItYa ywnww, should be burnt, the 77N -

— NI 9 ndn

Teaches us by saying 'X%7' that only 1m1 is burnt but not the abovementioned cases.
This concludes the citation from >"n.

mooIn concludes the question:
TRIININTD ANINA YPONT Y991 NYIWA DIINY YVIPNY TIOYNTN

Since it is necessary to exclude them, that they are not to be burnt, it is
evident that they are Nn>9IN7T» IR72 MON; for they are X372 M why would
we think that they should be burnt. There is therefore a contradiction between our X723
here which states that >"7 maintains Xn*7IR7 W? ¥"awn and the >™n where it is evident
that >" maintains ¥"2wn is (even) XN™MXTA X2 710K,

Summary
"W maintains that ¥"2wr is 72°9X82 MoK according to everyone, the npY?nn is

only concerning whether it is X172 708. However N19011 maintains that
according to °"1 there is no MO°X at all Xn»Mx71 of ¥"2wn. [In 2"n, however,
it appears that >"1 maintains that there is an XN™7KX72 AX17 MO°K by v"awn.]

Thinking it over
mooIn proves from the fact that we need to exclude 797w, that it is 7OX
X372, Perhaps it is 79w nywa 78372 9nn (if 797w would be required)?!'®

Ap_p_endix19
In our X1 there is a dispute between "7 "7 concerning "MX'. According

to n" the word 10X teaches that 77TV WRWIY PRI are IR 70K, while °"

5 A nov brings a 7w for a nXvn 1277 (and an 77W) at the end of 777w . If she is a n79 poo, she
nevertheless brings a P50 v 7w nXwA, but it is not eaten. According to (this) > it is buried; not burnt.

'® An 20 owx is brought when one is unsure whether he transgressed a 2 for which there is a 72p 21m, or
not. If one brought an *Y2n owX and before 0771 NP1 he realized (whether he sinned or not), the owR is
invalid. *" teaches us that it is not burnt. (See owR 71"7 X,15 *"w" for a different vw»s.)

" maoin does not answer this question. This question is both according to *"w7 and Moo,

'8 See X¥ MR DWW ¥ (and YXmw N27).
% See footnote # 6. The following is the understanding of the 2"w an of our Moo, It is evident from the

R"2w"71 Moo and the w"XA7 M©OIN that MdoIN offers two proofs from the X713 later on 2,32 /7. One, is from
the 2"X and the other (which our N1v0I1n does not mention explicitly, but perhaps alludes to it by saying 102
"2 RNynw), from the Xn3 of "31 1127 X177 0. It would appear that the 5"wnmn also offers these two
proofs. It would be then necessary to amend the 7"wnmn to read 'owni7 2now 1 2"R instead of J"X.
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maintains that ¥"2wn are not Xn» X712 7OX. Therefore the 1MX teaches us
that 1°10°X Xw2 (which ultimately means 90177 29 oo yan) there is MO°R
7R317. According to Mmoo that ¥"awn are altogether not N>R TOX it 1s
understood why according to °"7 the word INIX cannot refer to 1"7OX by
y"awn, since there is no MO*X at all by ¥"2wn; however according to > that
even °" agrees that ¥"2wn are 79°2%2 POX, why then indeed does not the
word "MmRX' teach us that ¥"awn are 1"7208? Why does he prefer to exclude
1"7w and y»n as opposed to ¥"awn.** This however is not a refutation of
»"w7, for we can possibly maintain that *"1 has some 109 which teaches us
TRI7 07 by ¥"awn (and n" disagrees with this 712°7).

However when the X713 later states that the difference between 172X ' 7P
(according to >"1) is by ¥"awn, this is a refutation of >"w7°5. Why does 172X "I
maintain that the V1> of 1M refers to y»nm 11w instead of v"awn? If we are
relying on the assumed 2108 (mentioned before) which is ¥"awn vynn from
1"710K, then it is not related to the np17nn between X" 7°PIn concerning X9
31 9orn. However if we assume like mooin that ¥"awn is totally Rn»71RT WY,
then it is understood. According to 7°p1 that 9oX° X2 (which is written by ynn
1"7wY) refers to 1"70°X then it i1s understood that "mRX' excludes v"awm;
however according to X"9 that 2oX> X? and 9280 X7 are the same, then "\NIX' is
required to teach us that 1"7w ynm are 1"7720K.

Alternately: In our Xn3 there is no refutation on *"w7%0 for >"¥7 maintains
that the v3°n of MK should apply to 1"7w" ynan since they are X7, just as
719°70 is a WY; as opposed to ¥"awn which is an 7wy.”' However, >"21 can be
refuted from the following R0 of 112 XA 20, where the 11277 X0
could not derive 71X MoK from 9o%° X5 (for he holds like 728 ") and not
from 777°21 (because he agrees with > that j2n32 2°727) and not even from
"NIX' because he maintains that ¥"2wn is XN X7 and the 1NIX is referring to
y"2wn. However, according to °"¥", that it is preferable to exclude 1092 ynm
"7 from MR, rather than ¥"awn; the "NIX' should apply to 1"7w ynn. This
proves that s""w9 assumption is incorrect; there is no preference to exclude
"7 yon over ¥"awn, the only reason °"1 does not exclude ¥"awn because
there is no XN»MXTA 70°K at all by ¥"awn.>

%0 See footnote # 2 that it is more logical to exclude ¥"awn than 1"7w1 yan.

't is derived from the 3,2 [7X1] 2°127) P109; where the 710 states concerning 7N Twa that you may eat
it since N2 "3 QPN TR PR 9D; we say (7NTY1a) opn 217°p2 (]’51“) 127 ANKR XY (]’51“) 127 ANKR DR 2102,
2 230 immediately after the %7172 *X».

2 See: R"ow ,0"'nr ,n"9%, etc. for additional explanations of this issue.
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